Toolhing by

DIJET

SOLID END MILL & DRILL

¥ 1 & #

WIS
ABRQURME 0 e 1002
OSVTRUME e 1002
LYMRILNRE e 1003
YLRDUARE eee 1003
DIYIRAIUI—FHUHE e 1004
LANRIYZROUL—HEHE o 1004
OSVTROULI—HHE e 1004
LYFRIHE e 1004
JYEIEDHRUMHE e 1005
MLOATFGELEHRQURIE s 1005
OSVTRYNRE 00 1005
OSVIEE e 1006
WX - JEEREC S —BR (GRE) 1007
BERMHESHRE R 1008
WSIBfmER 0 e 1010
WEsERE 0 e 1011
BISEDTSYRMIRR s 1012

001



Tooling by DIJET

ldeidd TN RIRAE
RBRURE
R o & ¥ A BRLYF
A B c D E a
A < e ASW-113 48 |No.10-32UNF| 127 | 48 — — AD-1845
9 SE ADS-513 7.8 M5x05 | 130 | 5.0 — — AD-2080
Eij ADS-514 56 M5x05 | 145 | 65 — — AD-2080
g[ @@ﬁ ASW-513 9.0 M5x05 | 13.0 | 5.0 — — AD-1845
C
95 TRURKE
o e 5 = & ST V7
B B & A S . 5 — el el
CB3540 90 | M35x06 | 63 | 23 — — T-15 2.1
CSW-1838 27 | M1.8x0.35 | 37 1.8 — 55 T-6 0.25
CSW-206 35 | M25x045 | 50 | 24 — 55 T8 0.9
CSW-2542 30 | M25x045 | 42 | 25 — 43 17 0.9
CSW-2547 34 | M25x045 | 47 | 25 — 43 17 0.9
CSW-3570 55 | M35x06 | 70 | 35 — 55 T-15 2.1
b CSW-3575 55 | M35x06 | 75 | 35 — 55 T-15 2.1
@% b I}Et CSW-3595 55 | M35x06 | 95 35 — 55 T-15 2.1
Pl CSW-406H 5.0 M4x0.7 60 | 36 — 43 T-15 36
¢ CSW-407 5.0 M4x0.7 70 | 36 — 43 T-15 36
CSW-408H 5.0 M4x0.7 80 | 36 — 43 T-15 36
CSW-4510 66 | M45x0.75 | 100 | 40 — 57 T-20 5.0
CSW-513H 7.0 M5x0.8 | 13.0 | 44 — 63 T-20 55
CSW-510 6.4 M5x0.8 | 11.0 | 45 — 43 T-20 55
CSW-515 7.0 M5x0.8 | 150 | 50 — 63 7-20 55
DSW-1840H | 25 | M1.8x035 | 40 | 20 — 55 T-6 04
DSW-2045H | 3.0 M2x0.4 45 | 23 — 60 17 05
DSW-2563H | 345 | M25x045 | 63 | 26 — 55 T8 1.1
DSW-306H 43 M3x0.5 65 | 32 — 55 T-10 1.8
DSW-307 43 M3x0.5 75 | 28 — 55 T-10 1.4
DSW-307H 43 M3x0.5 76 | 32 — 55 T-10 2.1
DSW-309H 43 M3x0.5 90 | 32 — 55 T-10 2.1
@ B iBEI DSW-4075 52 M4x0.7 75 | 35 — 55 T-15 36
“o|_ DSW-408 6.0 M4x0.7 85 | 36 — 55 T-15 36
c DSW-4085 53 M4x0.7 85 | 35 — 55 T-15 36
DSW-410H 53 M4x07 | 100 | 37 — 55 T-15 36
DSW-4510H | 6.8 | M45x0.75 | 100 | 47 — 55 7-20 6.0
DSW-4512H | 6.8 | M45x0.75 | 125 | 52 — 55 T-20 6.0
DSW-4515H | 6.8 | M45x0.75 | 155 | 52 — 55 T-20 6.0
DSW-509 7.0 M5x0.8 95 | 49 — 55 T-20 6.1
DSW-511H 7.0 M5x08 | 115 | 49 — 55 T-20 6.1
ESW-206 36 | M25x045 | 60 | 20 — 60 T-8 0.9
ESW-304 4.0 M3x0.5 45 | 20 — 55 T-8 1.4
ESW-306 4.0 M3x0.5 60 | 20 — 55 T-8 1.4
@ BG@EE ESW-307 4.0 M3x0.5 75 | 20 — 55 T-8 1.4
oL ESW-405 53 M4x0.7 59 | 27 — 55 T-15 3.1
= ESW-406 53 M4x0.7 66 | 27 — 55 T-15 3.1
ESW-408 53 M4x0.7 80 | 27 — 55 T-15 31
ESW-410 53 M4x07 | 100 | 27 — 55 T-15 31
ESW-412 53 M4x07 | 120 | 27 — 55 T-15 31




Tooling by DIJET

G

B e 4e s

9357 TRUHIE

2 T . g & RS |#EENLY
B R & A B c D E a HA4Z | (N'm)
ESW-507 6.8 M5x0.8 75 | 34 — 55 T-25 55
© °°@%E ESW-508 68 | M5x08 | 82 | 34 | — | 5 | 125 | 55
4oLc | ESW-510 68 | M5x<08 | 100 | 34 | — | 55 | T25 55
FSW-2005H | 25 | M2x025 | 50 | 1.3 — 40 76 05
FSW-2506H | 3.0 | M2.5x0.35 | 66 | 15 — 40 T7 0.9
e FSW-3007H | 3.8 | M3x035 | 8.1 2.0 — 40 T8 12
@"c EELI FSW-3500H | 47 | M35x06 | 96 | 23 — 40 T-10 2.0
o FSW-4013H | 5.8 M4x07 | 135 | 33 — 40 T-15 3.0
c FSW-5016H | 6.8 M5x08 | 164 | 3.2 — 40 T7-20 4.0
FSW-6020 8.5 M6x1.0 | 200 | 43 — 40 7-30 5.0
FSW-8025 110 | M8x125 | 250 | 55 — 40 T-40 6.0
HSW-614H 100 | M6x1.0 | 150 | 7.3 — 60 7-30 75
TSW-2250 31 | M22x045 | 50 | 23 — 60 77 0.6
TSW-2556H | 3.6 | M25x045 | 56 | 27 — 60 T8 11
TSW-2567H | 3.6 | M25x045 | 67 | 27 — 60 T8 11
TSW-3509H | 53 | M35x06 | 90 | 45 — 60 715 3.0
TSW-3510H | 53 | M35x06 | 100 | 45 — 60 715 3.0
TSW-3512H | 53 | M35x06 | 115 | 45 — 60 1715 3.0
TSW-408 55 M4x0.7 80 | 33 — 60 1715 3.1
TSW-410H 53 M4x07 | 100 | 36 — 60 715 35
TSW-511 7.0 M5x08 | 11.0 | 5.0 — 60 T-20 55
TSW-612 8.5 MEx1.0 | 120 | 48 — 60 T-25 75
TSW-614H 8.5 MEx10 | 140 | 62 — 60 7-25 75
. o
@° ;JEI $S4513P 67 | M45x075 | 130 | 35 — 55 201P 5.0
EybRILNRE
T ; ¥ & RSAT NS
HWHCS4-10
HESS-10 _ HCS4-10 7.0 M4x07 | 140 | 40 | 30 — — -
%1: g uE
. s HCS5-10 8.5 M5x0.8 | 150 | 50 | 4.0 - - —
WHSB-10 w
A TR HSB-10 170 | M10x15 | 560 | 100 | 80 13 — —
©<HEEBe
E c HSB-12 180 | Mi2x1.75 | 620 | 120 | 100 | — — —
Y LRIV 21—
nr ’ ¥ & RSAT |#ENLY
R ® & A B c D E E HA4Z | (N'm)
o SSW-535 6.3 M5%0.5 70 | 3.1 35 _ _ 6.5
<[1~=~ d
S Hilke
D]
c SSW-745 8.4 M7x0.5 80 | 29 | 45 _ _ 8.0




Tooling by DIJET

&

S

BBt

Iy I ATV

o ” g & RSAT |#EENLS
B %" ® & A B c D E F H4ZX | (N'-m)
LS-1 46 M6x1.0 | 22.0 | 85 8.5 3.0 — 6.0
Ls-101 4.6 M6x1.0 160 | 65 6.5 3.0 — 6.0
LS-106 46 M6x1.0 145 | 65 5.0 3.0 — 6.0
Ls-107 46 M6x1.0 130 | 50 5.0 3.0 — 6.0
Ls-109 55 M7x075 | 19.0 | 75 8.0 - T-25 7.0
Ls-110 4.8 M6x0.75 | 22.0 | 8.0 8.0 — T-15 6.0
LS-180 6.0 M8x1.0 190 | 70 8.0 — T-27 8.0
LAMRI I ZOVU -8
o 2 g & RSAT |[HEENLY
2 W B & A B c D E F | 94X | (Nm)
ExY < ax7
| "lS
0 C{%l _ -] LS-113 37 |No10-32UNF| 102 | 45 | 41 | 24 | — _
£ C
IS5 TAIV1—-Hg
S ’ ¥ & RSAT | #EENLY
R e & A B C D E F eV (N-m)
SLS-3 6.0 M8x1.0 | 200 | 8.0 8.0 4.0 - 8.0
W B R RSATHAX
A B G D E
LW-015 46.5 14.0 — — 15 —
LW-020 52.0 15.0 — — 2.0 —
LW-025 59.5 18.0 — — 25 —
A LW-030 67.0 20.0 — — 3.0 —
°ﬂ{ LW-035 715 225 — — 35 —
o w LW-040 75.0 25.0 — — 4.0 —
LW-045 80.5 27.0 — — 45 —
LW-050 80.0 28.0 — — 5.0 —
LW-120 137.0 45.0 — — 12.0 —
LW-140 154.0 56.0 — — 14.0 —
D B
o 7\ ‘*j A-030 — 60.0 80.0 28.0 3.0 —
©
A-07SD 4.0 60.0 80.0 — — T-7
3 A-08SD 4.0 70.0 80.0 — — T-8
‘ A-10SD 4.0 70.0 95.0 — — T-10
¢ - A-20SD 5.0 90.0 105.0 — — T-20
A-25SD 50 100.0 105.0 — — T-25
D B A-06 17 345 15.0 15.0 — T-6
T
oﬁ% A-07 2.0 345 15.0 15.9 — 7
s A-08 23 39.0 19.0 19.0 — T-8




Tooling by DIJET

BiEE ﬂﬂﬂﬁﬁ
[=]}] =]
LI FiRE
B B & R KSATHAX
A B c D E
D B A-10 3.0 40.0 40.0 20.0 — T-10
. o\ A-15 35 45.0 40.0 20.0 — 115
7 \ / E A-20W 4.0 45.0 40.0 20.0 — T-20
5 5 _ A-15T 40 100.0 80.0 26.0 — 715
A-20 40 100.0 100.0 32.0 — 7-20
// A-20L 55 200.0 100.0 32.0 — 7-20
<
o | S | A% 45 100.0 100.0 32.0 — T-25
' A-27 55 100.0 100.0 32.0 — T-27
o A-30 6.0 100.0 100.0 32.0 — 7-30
A-40 7.0 100.0 100.0 32.0 — T-40
AP-20 40 100.0 100.0 32.0 — 201P
= — AD-1845 18 45.0 - — — —
= . <
eI AD-2080 20 450 | 350 — — —
I ELLHRURE
g y < & RSAT |EEN LY
7 i RS A B c D E F HA4ZX | (N'-m)
 — LSM-512 — M5x1.0 | 126 | 10 | 30 | 25 — —
LG AF>
MLO ARG EIESHRUHRE
S ’ ¥ & RSAT MY
R & A B c D E E HA4Z | (N'm)
RSW-05008 — M5%0.8 80 | — — — 710 —
950 TyNRIB
2 7 9 s k547
7w & A B © D E F G PAX
F
! [
= o DCM-1 M5x08 | 138 | 138 | 6.8 2.0 8.5 25 —
w G
C
® @ DCM-5 Mex1.0 | 170 | 165 | 89 20 | 100 | 30 —
e
riﬁ
JraEy D$ DCM-17 M45x0.75 | 117 | 180 | 105 | 50 | 100 | — 7-20
~
C
m_(_tjﬂ DCM-18 M35x0.6 | 10.0 | 130 | 76 3.0 7.2 — 715
A




Tooling by DIJET

aREnte

_

% 1 % & S
A B © D
F
SO -
c DCM-2 M8x1.0 10.0 19.0 11.0




Tooling by DIJET

BiEs == Es
B gp@rnemns—EReo
IR
95%8 JISIEIR BT ws %8 JISHHE BT s
TATENE S AT SM CxxxxP
| EEH SRB HROREEDIRRUSE CxxxxPP
A [ —RmaRETE SS . CxoooR
—RES R ERH SSC CxxxxBD
BB ERAREESRROMEE | SAPH FARUESSE CxxxxBDS
SPCC, SPCT CxxxxBE
‘ AR OES SPCD, SPCE TR LRO7I=S—OLEeD | AP
%@gg SPCF, SPCG RRU% AxxxxPC
. SPHC, SPHD AxxxxBE
RMEERRIRR UNE SPHE, SPHF Z{gi AxxxxBES
EERRARNE SGP S | PISSOLRUTLSZOLAED  AoED
A S - BRI AR R E STB 7ILS | BERUR AxxxxBDS
SEAZA BB RS STH :A'jL\ AxxxxW
— BB E AR RS STK ors Ao WS
B E AR RS STKM FIE=OLROT7IVE O AR | AdoxS
et I SCr-TK, SCM-TK o= o= e | AXXXXFD
WE | SR YL EEE SUS-TK PWS=OLROTVVE=OLEEEER |\ oy
— BB e EE STKR ORI ROXRTILEER MP
FERASHmeE STPA EEL SO EPIN - MB
EHEE RS STPG =l | T ILRO—v T L a RO NCuP
B e STPT | urURUS v ILaSE NCuB
BERERRREEE STS F5 A TBxH
RERAT L ASHE SUS-TP Eiw | 0 /ROTIVERE TBXXC
TS S BBt SxxC, SXxCK FROAEZEY CACYXX
tem | ZIVE=0OLIOLEUT T VRN SACM EZEGTHEHRY CACxxxxC
#is SCM, SCr FILEZOLEEEY ACxx
B | wmissmasmE SNC, SNCM gy | JORTOLEREY MCx
SMn, SMnC ’ BINERS 1 HA ZDCx
T | RERIE®ET SK FILEZOLESIANAR ADCx
B | asTE®mEM SKS, SKD, SKT RIRIILERIANAR MDCx
# sxETe®EN SKH ROARAZ L WJx
| O UTEES AR SUM
=H | BREoOLHEEEY SuJ
587 anmmn SUP
B 2| 2FvLzamE SUS-B
Z | AMEERT L MR U SUS-HP SUSH3
2 | ARBEER T L AR U SUS-CP, SUS-CS
W | madme SUH-B, SUH-CB
§ | W SUH-HP, SUF-CP
B | MemneasE NCF-B
2z | MemaBasi NCF-P
RREREE SF
B | JOLEUT T MEES SFCM
—wrILOOLEY T VRBER SFNCM
1T & HH FC
RREAE SR FCD
s FCMB
AR FCMW
FCMP
RREH B SC
BERSRRRERVIESSMEEMS | SCC
g | AT /LM SCS
TS BT SCH
SYVHVRERD SCMnH
SESEAEER SCPH




Tooling by DIJET

aE=
SEHHRSHER (5
EiEiE AR RRIEERV Y AVRERRUOY VA o0LRRR
B# USA Ry BAE USA Ry
JIS AISI/SAE W.-nr DIN JIS AISI/SAE W.-nr DIN
S10C 1010 1.0301 Cc10 SMn420 1522 — —
S15C 1015 1.0401 C15 SMn433 1536 — —
S20C 1020 1.0402 c22 SMn438 1541 — —
S25C 1025 1.0406 C25 SMn443 1541 — —
S30C 1030 1.0528 C30 SMnC420 — — —
S35C 1035 1.0501 C35 SMnC443 — — —
S40C 1040 1.0511 C40
S45C 1045 1.0503 C45 ﬁﬁI E&Mﬂﬂ
S50C 1049 1.0540 C50
S55C 1055 1.0535 c55 JIs AISI/SAE W.-nr DIN
S58C 1060 1.0601 Cc58 SKi1 W1-13 - -
SK2 W1-11 1/2 — —
— SK3 W1-10 1.1545 C105W1
=y iboOL#g2 SKa W19 — —

JIS AISI/SAE W.-nr DIN SK5 W1-8 1.1525 C80W1
SNC236 3135 1.5710 36NiCr6 SK6 W1-7 1.1525 Cc80wW1
SNC415 3415 1.5732 14NiCr10 SK7 — 1.1620 C70W2
SNC631 — — —

SNC815 3310 1.5752 14NiCr14 EEEIE:%W*Z
SNC836 — — —
JIS AISI/SAE W.-nr DIN
SKH2 T1 — —
SKH3 T4 — —

JIS AISI/SAE W.-nr DIN SKH10 T15 — _
SNCM220 8620 1.6523 21NiCrMo2 SKH51 M2 1.3343 S6-5-2
SNCM240 8640 1.6546 40NiCrMo22 SKH52 M3-1 — —
SNCM415 — — — SKH53 M3-2 1.3344 S6-5-3
SNCM420 4320 — — SKH54 M4 — —
SNCM439 4340 1.6582 35CrNiMo6 SKH56 M36 — —
SNCM447 — — —

SNCM630 | — - - S TEMAH
SNCM815 — — —
JIS AISI/SAE W.-nr DIN
SKS11 F2 — —
z ubmm*z SKS51 L6 — —

JIS AISI/SAE W.-nr DIN SKS43 W2-9 1/2 — _
SCr415 5015 1.7015 15Cr3 SKS44 W2-8 1/2 — —
SCr420 5120 1.7020 20Cr4 SKD1 D3 1.2080 X210Cr12
SCr430 5130 1.7033 34Cr4 SKD11 D2 1.2379 X100CrMoV5
SCr435 5132 1.7034 37Cr4 SKD12 A2 1.2363 X100CrMoV5 1
SCr440 5140 1.7045 42Cr4 SKD2 — 1.2436 X210CrW12
SCr445 5147 — — SKD5 H21 1.2581 X30WCrvo

SKD61 H13 1.2344 X40CrMoV5
SOLEYIF VR .

Jis AISI/SAE Wonr DIN AFYVAMTISAR)

SCM415 — 1.7262 15CrMo5 JIS AISI/ASTM W.-nr DIN
SCM420 — — — SUS405 AISI 405 1.4724 X6CrAI13
SCM430 4130 1.7218 25CrMo4 SUS429 AISI 429 — —
SCM435 4137 1.7220 34CrMo4 SUS430 AISI 430 1.4742 X6Cr17
SCM440 4140 1.7223 41CrMo4 SUS430F AISI 430F 1.4104 X12CrMoS17|
SCM445 4145 — — SUS434 AIS| 434 — —




Tooling by DIJET

BiEs o == =
EEMEEESHIRER (RiE)
ZFYLAHE RL7YY1hF)
Ry B USA R
Jis AISI/ASTM W.-nr DIN JIs AISI/ASTM W.-nr DIN
SUS403 AIS| 403 — — SUH21 — — CrAl1205
SUS410 AISI 410 1.4006 X10Cr13 SUH409 AISI 409 1.4512 X6CrTi12
SUS416 AISI 416 — — SUH446 AIS| 446 — —
SUS420J1 | AISI 420 1.4034 X20Cr13
SUS420F | AISI 420F — — —
SUS431 AISI 431 1.4057 | X20CrNi172
SUS440A AISI 440A _ _ JIS AISI/ASTM W.-nr DIN
SUS440B | AISI 440B — — SUH1 — — —
SUS440C | AISI 440C — — SUH3 — — —
SUH4 — — —
— - SUH11 — — —
AT YUVAM (A—257F41 bF) SUHB00 | ASTM 616 — —
Jis AISI/ASTM W.-nr DIN
SUS201 AISI 201 — — 5 =
SUS202 | AISI 202 — — 19 Hikm
SUS301 AISI 301 _ _ JIS AISI/SAE W.-nr DIN
SUS302 AISI 302 — — FC100 20 0.6010 GG 10
SUS302B | AISI 302B — — FC150 25 0.6015 GG 15
SUS303 AISI 303 1.4305 |X10CrNiS189 FC200 30 0.6020 GG 20
SUS303Se | AlSI 303Se — — FC250 35 0.6025 GG 25
SUS304 AIS| 304 1.4301 | X5CrNi1810 FC300 40 0.6030 GG 30
SUS304L | AISI 304L 1.4306 | X2CrNi1911 FC350 50 0.6035 GG 35
SUS304NI | AISI 304N — —
SUS305 AISI 305 1.4303 | X5CrNi1812 s =
SUS308 | AISI 308 — — SRR SRR R i
SUS3098 A|S| 3098 _ _ JIS AISI/SAE W.-nr DIN
SUS310S | AISI 310S _ _ FCD400 60-40-18 0.7040 GGG 40
SUS316 AISI 316 1.4401  |X5CiNiMo17122 FCD450 60-40-8 0.7045 GGG 45
SUS316L | AISI 316L — X2CrNiMo17132 FCD500 65-45-12 0.7050 GGG 50
SUS316N AISI 316N 1.4404 _ FCD600 80-55-06 0.7060 GGG 60
SUS317 AISI 317 1.4438  |X2CrNiMo18164 FCD700 | 100-70-03 0.7070 GGG 70
SUS317L | AISI317L 1.4438  |X2CNiMo18164
SUS321 AISI 321 — —
SUS347 AISI 347 1.4550 | X6CNiNb1810
SUS384 AIS| 384 — —
THZAER
JIS AISI/ASTM W.-nr DIN
SUH31 — — —
SUH35 — — —
SUH36 — — —
SUH37 — — —
SUH38 — — —
SUH309 AISI 309 — —
SUH310 AISI 310 1.4845 CrNi2520
SUH330 AISI 330 — —




Tooling by DIJET

SIB{iEER mrsssu~omgss osmswroowom

1 DOEHHSIIC KDL

N kef dyn
1 1.019 72x10™ 1x10°
9.806 65 1 9.806 65X 10°
1x107° 1.019 72x10°° 1
[r¥va) 1Pa=1N/m?, 1MPa=1N/mm?
PaX(&N/ma2 MPaX[&N/mm?2 kegf/mmza kgf/cme kgf/ma2
1 1x10°° 1.019 72x1077 1.019 72x10°° 1.01972%10™"
1x10° 1 1.019 72x10™ 1.01972%x10 1.01972x10°
9.806 65x%10° 9.806 65 1 1x10° 1x10°
9.806 65x10° 9.806 65%107 1%x107? 1 1%x10°*
9.806 65 9.806 65%10°° 1x10°° 1x10™* 1
EA 1Pa=1N/m?
Pa kPa Mpa bar kgf/cme
1 1x107° 1x107° 1x107° 1.019 72x107°
1x10° 1 1x107° 1x107? 1.019 72x107*
1X10° 1X10° 1 1X10 1.019 72X10
1X10° 1X10° 1x10" 1 1.019 72
9.806 65% 10* 9.806 65x10 9.806 65%107° 9.806 65% 107" 1

{15 - IRILF— - S

1J=1W s, 1J=1N-m

J

kW - h

kegf - m

kecal

1

2777 78x107

1.01972x10™

2.388 89x10™*

3.600 00x10°

1

3.670 98x10°

8.600 00x10?

9.806 65

2724 07x10°

1

2.342 70x10°

4.186 05%10°

1.162 79x10°°

4.268 58 10°

1

HER(TE - B15) - ik 1W=1J/s, PS : )
W kW kegf - m/s PS kcal/h
1 1x107° 1.019 72x10™" 1.359 62x10° 8.600 00x10™"
1x10° 1 1.019 72x10° 1.359 62 8.600 00%x10°
9.806 65 9.806 65x107° 1 1.333 33x107 8.433 71
7.355%10° 7.355%107" 7.5%10 1 6.325 29%x10°
1.162 79 1.162 79%x10°° 1.185 72x10™" 1.580 95X 10°° 1
keEh Mg
J/ (kg - K) kcal/(kg-C), cal/(g:C) W/(m - K) kecal/(h - m - C)
1 2.388 89x10™* 1 8.600 00x10™
4.186 05X 10° 1 1.162 79 1
ElE5EE
min™' s™! r.p.m.
1 0.0167 1
60 1 60




Tooling by DIJET

BiEE *1- §
Ty a)i
DEYHh—REE (T T BiELIKNIRE(E
£ | Juzuge D) £ | Juzuge D)
v 108k Oy VS E v 108k OvoYTIUES 3
7 | mm3000kef 7 | 3R 7 | mm3000Kef 7 | 3pEa
Z | ® |57 Azr— | BRr—L | CRo— | = | GERlE) 2 | ® [5v9 [ Axr—u | BRo— | c2o—v | = | GERE
® | 4 |7 |ME6EOKef 7] 00kef 7 150kes Wi~ B | 4 |27 |WE6EOKer %) O0kef A 150ke! W%
& A0 | SVENEE | ®16 | SMPEUNTE (kef/?) & D—IX| SPENEE | R16  |SOPEUNEE (kef/?)
® || EF |(0/16h%| EF B (18| EF |0/180H| EF

HY HB | HRA HRB HRC | HS HY HB | HRA HRB HRC | HS
1900 - - 93.1 - 80.5 - - 420| 397 | 397 71.8 - 42.7 | 57 (1370 (140)
1800 - - 92.6 - 79.2 - - 410| 388 | 388 71.4 - 41.8 — |1330 (136)
17000 - | - | 919 - 779 | - - 400| 379 | 379 | 70.8 - 40.8 | 55 (1290 (131)
1600 - - 91.3 - 76.6 - - 390 369 | 369 70.3 - 39.8 — 1240 (127)
1500] - - 90.5 - 75.3 - - 380| 360 | 360 69.8 | (110.0) | 38.8 |52 [1205(123)
1450, - - 90.1 - 74.6 - - 370| 350 | 350 69.2 - 37.7 - 1170 (120)
1400 - - 89.6 - 74.0 - - 360| 341 | 341 68.7 | (119.0) | 36.6 |50 1130 (115)
1350, - - 89.1 - 73.4 - - 350( 331 | 331 68.1 - 355 - 1095 (112)
13000 - | - | 887 - 727 | - - 340|322 | 322 | 67.6 | (108.0) | 344 |47 1070 (109)
12500 - | - | 883 - 721 | - - 330| 313 | 313 | 67.0 - 333 | — 1035 (105)
12000 - - 87.9 - 715 - - 320 303 | 303 66.4 | (107.0) | 32.2 |45 (1005 (103)
1150, - | - | 875 - 709 | - - 310| 294 | 294 | 65.8 - 31.0 | — |980(100)
1100] - - 87.1 - 70.3 - - 300| 284 | 284 65.2 | (105.5) | 29.8 |42 | 950(97)
1050, - - 86.6 - 69.6 - - 295| 280 | 280 64.8 - 29.2 - | 935 (96)
1000] - - 86.2 - 68.9 - - 290| 275 | 275 64.5 | (104.5) | 285 |41 | 915(94)
940/ - | - | 856 - 68.0 |97 - 285| 270 | 270 | 64.2 - 27.8 | — | 905 (92)
920| - - 85.3 - 675 | 96 - 280| 265 | 265 63.8 | (103.5) | 271 40 | 890 (91)
900| - - 85.0 - 67.0 |95 - 275| 261 | 261 63.5 - 26.4 - | 875(89)
880| - |(767)| 847 - 66.4 |93 - 270| 256 | 256 | 63.1 | (102.0) | 25.6 |38 | 855 (87)
860| - |(757)| 844 - 659 |92 - 265| 252 | 252 62.7 - 24.8 — | 840 (86)
840| - |(745)| 841 - 65.3 | 91 - 260| 247 | 247 62.4 | (101.0) | 24.0 |37 | 825(84)
820| - |(733)| 83.8 - 64.7 | 90 - 255| 243 | 243 62.0 - 23.1 — | 805(82)
800| - |(722)| 834 - 64.0 |88 - 250| 238 | 238 | 61.6 | 995 222 | 36| 795 (81)
780 - |(710)| 83.0 - 63.3 | 87 - 245| 233 | 233 61.2 - 21.3 — | 780 (79)
760| - [(698)| 82.6 - 62.5 | 86 - 240| 228 | 228 60.7 98.1 20.3 | 34| 765(78)
740| - |(684)| 822 - 61.8 | 84 - 230| 219 | 219 - 96.7 (18.0) | 33 | 730 (75)
7200 - |(670)| 81.8 - 61.0 |83 - 220| 209 | 209 - 95.0 (15.7) | 32 | 695 (71)
700| - |(656)| 81.3 - 60.1 81 - 210| 200 | 200 - 93.4 (13.4) | 30 | 670 (68)
690| - |(647)| 81.1 - 50.7 | - - 200/ 190 | 190 | - 915 | (11.0) | 29 | 635 (65)
680| - |(638) 80.8 - 59.2 | 80 - 190( 181 | 181 - 895 | (85) |28 605(62)
670 - | 630 80.6 - 58.8 - - 180 171 | 171 - 87.1 (6.0) |26 | 580 (59)
660 — | 620 | 80.3 - 583 |79 - 170] 162 | 162 - 85.0 | (3.0) |25 545(56)
650 - | 611 80.0 - 57.8 - - 160| 152 | 152 - 81.7 (0.0) |24 | 515(53)
640 - | 601 79.8 - 573 |77 - 150| 143 | 143 - 78.7 - 22 | 490 (50)
630 - | 591 79.5 - 56.8 - - 140] 133 | 133 - 75.0 - 21 | 455 (46)
620| - | 582 | 792 - 56.3 |75 - 130| 124 | 124 - 712 — |20 425 (44)
610 - | 573 78.6 - 55.7 - - 120| 114 | 114 - 66.7 390 (40)
600 - | 564 78.9 - 552 |74 - 110] 105 | 105 - 62.3
590| - | 554 | 784 - 54.7 | - |2055 (210)| |100| 95 | 95 - 56.2
580 - | 545 78.0 - 541 72 12020 (206) 951 90 | 90 - 52.0
570/ - | 535 77.8 - 53.6 — (1985 (202) 90 | 86 | 86 - 48.0
560 - | 525 774 - 53.0 | 711950 (199) 85| 81 | 81 - 41.0
550|(505)| 517 | 77.0 - 52.3 | — |1905 (194)
5401(496)| 507 | 767 - 51.7 | 69 1860 (190) 1. 2OERE JISHIENRT v EOREL B D THBo
530|(488)| 497 76.4 - 511 - |1825 (186) 512, 1MPa=1N/mm

3. () ABIERSEIBVSNEVEEDSD TH)
520 (480)| 498 | 76.1 - 50.5 | 67 |1795 (183) SELLTRLEDD THD,
510|(473)| 479 | 75.7 - 49.8 | - [1750 (179)
5001 (465)| 471 | 75.3 - 491 | 66 |1750 (174)
490 (456)| 460 749 - 48.4 - [1660 (169)
480| 448 | 452 | 745 - 47.7 | 64 [1620 (165)
470| 441 | 442 | 741 - 46.9 | - |1570 (160)
460| 433 | 433 | 736 - 46.1 | 62 |1530 (156)
450| 425 | 425 73.3 - 45.3 — [1495 (153)
440| 415 | 415 | 72.8 - 445 | 59 1460 (149)
430| 405 | 405 72.3 - 43.6 — 1410 (144)




Tooling by DIJET

G

SRDT SRR

AEERAN

] LLIB5 KE BA - = T . -
== us = — =
9% | JISHEE AISIHEN|| EHI2E PSSt Py R BiIgeRE ATHE TILL h—>
ETEE| SK105 Wi-10 0K3 YK3 K990
SKS93 SK301 QK3M YK30 K3M YCS3
SKS3 SKS3 OKS3 GOA KS3 SGT ARNE K460
SKD1 D3 ct nct KD1 CRD SVERKER3 | K100.K107
SKD11 D2 SKD11 acii DC11 KD11 SLD CDS11 | SVERKER21 | K105.K110
AUD15 acM7 KD11MAX
0,
8%Cr D 1 QoM DC83 | yiris koo | SLD8 MDS9 | SLEIPNER K340
2Ry oZF CALDIE
e SXACE DCMX NOGA ARK1 UNIMAX W360
& | SKDI2 A2 DC12 KD12 RIGOR K305
E | FUn—k>
é J0HRC GO4OF KAPE5 | HPM-MAGIC IMPAXHH
B g im SX105V QF3 G05 KRCX HMD5 FERMO
1E3822440 G4 KSM ACD37
a2 AKS4 QF1 GS5 KTV5 YSM
CALMAX
ELMAX
20t AUDT1X SLE:\|:/)I1A%IC ICS22 | VANCRON40 iggg
VANADIS4E
VANADIS10
SKH51 M2 QH51 MH5 1 H51 YXM1 SKH9 600
SKH51% SKHID
SKH55% HM35 YXM4 HHs'\ggin S705
I
g SKH57% MV10 XVC5 DEE&??P 700
e .
T
8
L ORI DURO-F1
DRV KMX1 YXR3 DURO-F3
R(UDZEES QHZ DRV KMX2 YXR7 DURO-F7
HEs KMX3 YXR33 DURO-V2
DURQ-V5
SKH40 DEX40 HAP40 FAX38 | VANADIS30 |  S590
DEX-M1
py | TR DEX 11 HAPSR
x
=
=
% SPM23 HAP10 FAX31 5290
B | om SPM30 DEX20 AR50 FAX40 | VANADIS23 |  $390
i SPM60 DEX60 Hap2 FAX55 | VANADIS60 |  S690
SPMRS FAXG2 790




Tooling by DIJET

L= e F=~ )R
s TERDTSRIER
41N
EEETENR
e *A B N _ oy o
SKH2 T Ho YHX2 SKH2 $200
E4
% |skus T4 H3 SKH3 $305
A
7T
7, |skHd T5 Ha SKH4
*
SKH10 Ti5 HV5
$600
SKH51 M2 QH51 MH51 H51 VXM SKH9 S614
S401
SKH52 M3-1 H52
SKH53 M3-2 HVA $607
SKH54 M4 Hv2 HM4
SKH55 HM35 YXM4 HM35 $705
5
Y skHs M36 HM36 HM36
7
% |skhs7 HV10 XVC5 HS93R $700
SKH58 M7 HM3 HM7 $400
SKH59 M42 HM42 YXM42 HM42 $500
HS53M
HS97R
HM1
20t 570 xm% HMT12
HM33
SKH9D
DURO-SP
2 DURO-FZ
b A2 KX A
AN ES QHZ KMX2 YXR33
5 DRM3 o NS DURO-F7
2 MHg5 DURO-V2
EN DURO-V5
SKH40 SPM30 DEX40 HAP40 FAX38 VANADIS30 $590
foal
2 Spu2s DEX20 HAP10 FAX31 $290
£ om PG DEX60 HAP50 FAX40 VANADIS23 $390
e DEX-M1 HAP72 FAX55 VANADIS60 $600
DEX-M3 HAPSR FAXG2 $790

F) ORI 5% FR26F1ASKIVERBRLIEDHDTT,




Tooling by DIJET

G

SRDT SRR

ISAFvoERAMN

1458

e S Js (As| mm | o | wE | BB | am | R Aw | | ovr | o
(HRO)| f8 | 18 | 808 | 27— | 9P | i | %@ | TRl | &R | % | ML
KTSM21
KTSM21M KPM1
13 | SC% | 1055 srempt | e poss R
KTSM22
JFE-MD3
28 |SCMZ| 4140 e VDs | KTSMS31 PDS3
M200
SCM| g kTsmam | Pcm3o | PR | kpmso | HPMZ IMPAXHH | M201
() PXA30 M238
33 S-STAR GHX PROVA-400 M303
SUSH| 420 D-STAR | 420M | PM38 | poovaaso | STAVAX | waqg
7 SUS& G-STAR HPM77 RoyAlloy | M315
N (151
|
K | 3 |susx 51700 QSHe | NAK101 | U830 | PSL CORRAX |  N700
£ 36 |SCM@ED)| P20 JHX
SUS% EDR0400
3@‘3‘1 H13 DH2F | KAP9OF | FDAC
" P21 PCM40S | NAKSO | KAP88 | HPM-PRO M461
20ofts| (L) PCM4O | NAKSS | KAPE5 | HPMI M261
(%%1%) CENA1
HPN-MAGIC NIMAX
RIGOR | 10
60 |SKD1T po || aAupi1 QcMs | PD613 | NOGA | HPM31 SLEIPNER |
() CALDIE K340
CALMAX
15t
A M340
pt: SUs QPD5 4400 M390
R 5 e | 4400 SPC5 | SUS440C SUS440C | PROVA'500 | ELMAX |  N685
L (#%) (#) NG9O
81 NG5
S-STAR HPM38 STAVAX
5 |SUSK DSTAR | GHx | HPu3ss | RO poLmax | M3TO
G-STAR HPM77 MIRRAX
LT V720
NN MASIC | KMS1820| YAG | EXEO-M21 by
h
% Zfh CORRAX
| | NMST | HPM75




Tooling by DIJET

L= e T—F]
s | TEHfDITS/REER
41N
HRERAN
] ®E LLIBZ KE BA - — =y DY |20 =
1] = 1] —
o%8 | JISHEE |AISHES|| EN%EE SR | ST | ASEE SEEE BiERE | A28 == TV h—3
SKD4 DH4 KD4
SKD5 H21 DH5 KD5
SKD6 H11 DH6 KD6 VIDAR mgg
DHA
SKD6 H13 || skpst W61 | pag KDA DAC ORVAR-2M | W302
Dot | Koar | DAG3
AUD6T QDAG1 DAC10 ORVAR-S | W303
DH31-S | KDAMAX | ) o22
DH31-EX
SKD61 (1RH1) DH2F | KAPSOF | FDAC
Py
2 Iske H12 QD62 | DHE2 | KDB
T
5 |SKD7 H10 DH72 | KDH1 W320
i
DH32
SKD7 (&) AUD72 QDH | DH71 Pevi | DURO-NA
DH73
SKD8 H19 DH41 KDF
SKDS8 (1) DH42 | KDF4 | MDC-K
SKT4 SKT4A | SKT4 | QT4 GFA KTV DM ALVAR14 | W500
SKT4 () KTH4 | aoT | GF78 | TD3
AUD91
M L4E MPH-K DH76 HD22B
BURE
ZDAth QF5 | DHA-Thermo BALDER
I8 DRM1 DURO-FZ
=N 1)
ﬁ% ELOPEES oz | pRe | KMXT | YXRs3 | DoRO

&) TORIS 5] FR26F11BSKVRBRLICBDTT,






